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uestion 1 {5 h?L
Danny Manidng and Larry Brown are accountants for the Engineering Institute. They disagree

aver the following transactions that occurred during 2010. Larry disagrees with Danny on each
of the transactions below. :}uﬁ- men }-; = W

I. The Engineering Institute finds a bargain for a commercial-grade plotter and pays $3,000.
Danny argues that if they had bought it from the dealer, they would have paid 4,000, Danny

Suggests they record the plotter for $4,000. mea surmed Peonciple (Vi) Cast)

2. Timothy West, president of the Engineering Institute, used his company expense accomt to
purchase a new BMW for his personal use. Danny argpes that since the president is also the

owner of the Engineering Institute, it really does not matter who paid for it

3. Depreciation for the year was $114,000. Danny argues that since net income Is expected to be
lower in the current fiscal year, they should just charge it as an expense next year.
L T Y Wi ple
4. Danny suggests that the Engineering Institute value its cquipment 5n its balance sheet at jis
liquidation value, which is $50,000 less than cosi, 5‘,}“{5 - Cendefi.
j.‘nl':j;an LR § ¢ TR K

3. The Engineering Institute signed a lease on its offices for the next five years. A lease liability
i5-not included on the company’s balance sheet. Danny doesn’t think such information needs io

be disclosed. ! q;.:“' ‘e.';qﬁ,ﬁhr Cria tir'f b

Reauired -

For each of the above transactions, identify why Larry disagrees. Also identify the assumption,
principle, or constraint that has been violated.
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SFAC Mo s the qualitative characteristics that make accounting information useful
Presented below are 8 number of questions related (o these qualitalive characteristics anc

underlying constraints. CL\S.I. ren * (o MP‘T-'U N> I Eng rechs t.ti'

(2} Davison Robertson Inc. income statement reports sales of $1,000,000 when it had sales of
only $725,000. Which qualitgtive characteristic of acco ing is not followed?
€ P e ko tionel L.’.J.ﬁui eSS E,rth‘;iﬁﬂﬂﬂ iz

(b) Macbeth Inc. does not issue its first-quarter report until after the second quarler's results
are reported.  Which qualijative characteristic of accountin £ is not followed?
Lime \vness (relevounce
{c) The chairman of the SEC at one time noted, “If" it becomes accepted oc expected that
Accounting principles are determined or modified in order to secure purposes other than
ECONOMIC measurement, we assume a grave risk that confidence n the credibility of our
financial information system will be undermined.” Which qualitative characteristic of

accounting information should ensure that such a situ tion will not occur?
N edra ity (r:l:uﬂtj tchiadat L

(d) Jack Hampton Inc. switches from the “percentage of sales” to the “percentage of

receivables™ method in calculating uncollectible accounts over a 2-year period, Which
qualilative characteristic of accounting information is not followed?

Consistency

(e} ldentify the twp overall Gr pervasive constraints developed in SFAC No. 2.

i

~ (Lelicblly B pelevenct Costbenelit fanl Pt arel)e,
(f) Assume that the profession permits the savings and loan indusiry to defer losses on
investments it sells, because immediate recognition of the loss may have adverse

economic consequences on the industry. ‘Which qualitative characteristic of accounting is

not followed?
n enckrelihy

(&) Juson Rich, Inc. is the anly company in its indusiry to depreciate its plant assets on
straight-line basis. Which qualitative characteristic of acco unting information may not he

followed? 'f:_'? NPWQH{":B

(h) What is the quality of information that enables users 1o confiom or correct prior

expectations? %J J:'-f.'ﬁ'" - b;._..;,l U.Wf,uf'

(i) Two secondary qualitics that make accounting information wseful for decision-making

Ses, . o f. A
T consishency ; compacability

(1) Casper Leon Company has attempted to determine the replacement cost of its inventory.
Three different appraisers arrive at substantially different amounts for rhis value, The
president, nevertheless, decides to report the middle value for external reporting
parpases. Which qualitative characteristic of information is lacking in these data?

u]rii q}’afl_t\‘-'_-j |
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Question 3 (12 poinis)

On Janvary 1, 2012, Columbo Co. hired a new cootroller. During the year, the controller,
working closely with Columbo’s president and outside accountants, made changes in existing
accounting policies, instituted new accounting policies, and corrected several errors from prior

years

For each of the items listed below, select a classification from List A and the general accounting
treatment required to report the chanpe from List-B. Place the letter answers in the boxes next 1o

each ilem.

- Item List A List B

I. Columbo manufactures cusmmmed equipment (o

cuatumcr “specifications on ®  confract — basis. F’l \!
Coluimbo changed its method of accounting for these .

Llﬁng—tfmﬁ contracts frum the completed contract o

method lo the percr,nraga of cormipletion -method 4 T y

hecatise Eﬂlumbn i now able o make réasonable
eslimates of future construction costs.

2. Based on improved collection procedures,
Columbo changed the percentage of credil sales used
o determine the allowance for uncollectible

accounts from 3% to 2%.

List A - Type of Change List B — General Accounting

Treatment

Change in accounting principle Retrospective application

Change’in accounting estimate Progpective application

Correctiom of an efror in previoosly presented
financial statements

o O

Meither u«n accounting change nor an ermor
correction

AN .

’}pJJ-‘

List A represents possible classifications of these items a5 a change in accounting principle, a
chonge in accounting estimate, correction of an error in previously presented financial
statements or neither an accounting change nor.an error correction.

List B represents the general accounting treatment required for these tramsactions. These

ireatments are:

Retrospective application - Apply the cumulative effect resulting from the accounting

change or error correction to the carrying amounts of assets and liabilities, with an

adjustment 1o opening balance of retamed exrnings, in the cument finoncial statements.

Also apply adjustments to the financial statements for ench individual prior period

presented, - T

Frospeciive application - Report current year-and futore financial statements on the new

bazgis, but do not adjust opening retained earnings or include the curmlative effect of the

change in the current year income statements.

—

4



For each of the items listed below, in addition to selection of a classification from List A
and the general sccounting treatment from List B, a thivd response is required. For these
items, determine the amount of the change, if any; assume income tax rate is 40%. Place
the letter and numerical answers in (he spaces provided next to the item.

[tem List A List B Amount
3. On January 1, 2012, Columbo changed from

M-
¢ average cosi tg FIFQ 1o account for its inventory, A ig ,G R 4]
NI _ EFmL of goods sold under each method was as follows: o ? I:’_‘jﬂ[i_-
Time Framg. Avgragecost  FIFO L/ // e frainy
Years prior to year 2012 $63,000 =  $68,000 f ined y
| Year 2012 66,000 72,000 ' redained eatriir
4. In Janwary of year 2011, Columbo purchased a . Qall g &
machine with & 4 years useful fife and no salvage h -
value for $50.000, The machine was depreciated -2 z '1; i e E' n
using the Straighl-line method. On December 30 of c Y ad 'uj"? 2
year 2012, Columbo discovered that depreciation on ' o | s Errrfftﬁ:j
r-*"'""ﬂw machine had been calculated using a 30% rate. |||'r’,.- [ Piser pes
» = : f _l_.
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Question 4 (18 points)

Presenied below is information related to Nissan Company for 2011.

Retained earnings, January 1, 2011 $ 650,000
~1 Sales - 1,400,000
- Selling and administrative expenses . 230,000 :
——4 Hurricane loss (pre-tax) on plant {extraordinary itesr) - _ 280,000
—— 1 Loss on operations of the electronics division (pre- tax) 90,000
4 Gain on the disposition of the electronics division (pre- tax) 60,000
Cash dividends declared on common stock 33,600
~'Cost of goods sold 780,000
A Other revenue 120,000
= = Dither expenses 100,000
Required

) a) DPrepare in good form a multiple-step income statement for the year ended December 31,
Y 2011, Assumca 307 tax rate and that 100,000 shares of common slock were ouisianding
% ~ during the year.
© == b) Calculale the total tax expense for the year ended December 31, 2011,

] F

o) Tneome from contiruting speredion bedece tar  Ulo/o00

;':_1:'-{.5-1-,{ e ;"L ’3:‘:{‘ tar m}-ﬂ
v loss on discondfnued mpﬁh}ims 123,000
Pretak = Qojeco | | K expenses
f3ef fadr =il
| —— - i b \ess on Plaﬂl
z = E-T,FFE " i Zqoron® o Foy,
net less —Jr;ti ;ﬂg = §Fo00 Fux
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€ purpose of the Emerging Issues Task Force is to

a. develop a conceptual framework as a frame of reference for the solution of future
problems. .
b. lebby the FASB on issues that affect a particular industry.
€., do research on issues that relate to long-term accounting problems.
i@;}issut statements which reflect a consensus on how to account for new and unusual
financial transactions that.need to be resolved quickly.

E/@ Einqneial accounting standards:
/ \%nm products of absolute logic
+

are issued by the FASB withouot the input of parties such as corporale accountan!s or

analysis. .
N EMare often the result of compromises among the interested parties, —
d. have never been rejettod by the SEC, . J_‘,.f"'
e. none of the above statements are troe.

3. A company records items on the cash basis throughout the year and converts 1o an acerual
basis for year-end reporting. Its cash-basis net income for the year is $70,000.

R
The company has gathered the following comparative balance sheet information: b uJ“-f
Bepginni @ }
g sginning of year End of year flevenney + Joo _Hoe i
— W LN
a 4R Accounts payable  — $ 3,000 +$1,000 - .o A & g
Unearned revenue 4 300 - 500 ' Elf 113 f‘“; : y s
Wages payable — 300 4 400 = loc +\het e
e oF |
e Prepaid rent A=~ 1,200 — 41,500 — 300" & \oe® Sl oS 1\]
Aﬁﬁa“{E receivable _ 1,400 4 600 - 3ot 4 He (l_it"::‘
afily few, —|ooo —~12/°
’E'!’hnt amount should the company report as its accrual-basis net income for the current year?
. a. $68.800
. $70,200)
1,200
3,200

entire operation for $800,000, and the buyer will assume all assets and liabilities of the

___'.>£ 4. A company decided 1o seli an unprofitable division of its business. The company can sell the
\I"-\.
) operations. The tax rate is 30%. The assets and liabilities of the discontinued operation are as

follows:

. 'ﬁ amr®C®
Buildings $5,000,000
Accumuolated depreciation 3,000,000 hﬂy L )
Martgage on buildings 1,100,000 o, A
Irrventory S0,000 G
Aecounts payable 603,000

Accounis receivable 200,060

-



What is the after-tax net loss on the disposal of the division?
$140,000
- $200,000
¢. $1,540,000
o, $2,200,000

3. Which of the following is an example of managing earnings down?
i. Changing estimated bad debts from 3 percent to 2.5 percent of sales.
b. Reducing research and development expendilures.
Mot writing off obsolete inventory.
- Revising the estimated life of equipment from 10 years to 8 years,

6. Which.ef the following is a component of other comprehensive income?
a. Minimum accrual of vacation pay.
/ 1M umulative currency-translation adjustments. :} ‘)
¢, Changes in market value of inventory.
Unrealized gain or loss on trading securities.

7. On June 1, Royal Corp, began operating a service company with an initial cash investment by
shareholders of $2,000,000. The company provided $ﬁ.4gﬂ.mn of services in June and

- received full payment in July. Royal also incurred expenses of $3,000,000 in June that were
paid in August. During June, Royal paid its shareholders cash dividends of 51,000,000, What
was the company's income before income taxes for the fwo monthe ended faly 31 under the

folldwing methods of accounting? P,C"—N"}! . 9™ A-FGFEEI
_F;: Eash Basis  Accroal Basis e et
a. 53,490,000 $3,400,000 ; ;G.‘-L on (o=

P $5:400000 52,400,000 € Mo =°0
$6,400,00)  £3 460,000

d. %6,400,000 $2 400,000 W
€. NONEST the abos- are correct =

= ‘::: '“:II of s account Blances have been extended to the Income Statement columns of the
i sheet, the totals of th debit and credit columns are $87,500 and $98,300, respectively.
at1s the armount of the ne jncome or net loss for the period?

Cjﬂ‘—} $10,860 net ilcome j

'

b. 510,800 net loss e
€. $98,380 net income :
. d. 387,500 net loss 3



9. Martiny Company received $9,000 on August 1, 2010 for one years rent in advance and
recorded the transaction with a credit 10 a nominal account. The D*E,EEPE. 31, 2010

adjugting entry is A .
; debit Uneamed Rent and credit Rent Revenue, $3,750. W ‘R Ao
- b. debit Rent Revenue and credit Unearned Rent, $3,750. O ] =)
@}dehit Rent Revenue and credit Unearned Rent, $5,250. (. A .
i. debit Unearmned Rent and credit Reat Revenue, $5,250, E_.:rl?‘ ﬁ ' e
Dr. fz‘ :_l" 'LJ-'JZ-

10, When a full set of general-purpose financial statements are presented, comprehensive income
and its componenis should

. " * a. Appear as a parl of discantinued operations and extraordinary items.
e reported net of related income tax effect, in total and individually.
c. Appear in a supplemental schedule in the notes to the financial statements.
d displayed in a financial statement that has the same prominence as other finencial
stalements

£



